CHESS   Sat 2 July 2005
    
          David Ellis  9276 1822 / openfile@bigpond.com    1

Black is the double exchange & a pawn up but helpless (Kasparyan 1961). Can you demonstate a win for White in about 5 moves?
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In our alphabet series Q is for Queens Indian which arises after 1 d4, Nf6  2 c4, e6  3 Nf3 (avoiding the pin that arises after 3 Nc3, Bb4 – the Nimzo-Indian Defence) 3...b6.  The main line now involves 4 g3, Bb7  5 Bg2 with a struggle for the d5 & e4 squares.  An alternative and more aggressive move for Black which attacks the White c pawn is 4...Ba6, first played by Nimzovitsch against Gruenfeld in the 1925 Breslau tournament. This is now the most common line in the Queens Indian in GM chess and was used successfully by Michael Adams in his recent 4-4 drawn match against Peter Leko.  Here is that game together with a miniature from then world champion Vassily Smyslov against the top player from East Germany, Wolfgang Uhlmann (Moscow 1956):

     Queens Indian Defence:  1 d4, Nf6  2 c4, e6  3 Nf6, b6  4 g3, Ba6



      ADAMS   -   LEKO

 

5    b3  
Bb4+


 6    Bd2(a)  
Be7

7    Nc3  
0-0  


 8    Rc1 
d5

9    cxd  
Nxd5  


10   Nxd5(b)  
exd5

11   Bg2  
Re8 


12   Rc2  
c5

13   0-0(c)  
Nc6  


14   Bc3  
Rc8

15   Bh3  
Rc7 


16   Re1(d)  
cxd

17   Bxd4(e)  
Nxd4 


18   Nxd4 
Bb4

19   Rf1(f)  
Rxc2 


20   Qxc2  
Bc5

21   Rd1  
Bxd4 


22   Rxd4  
Rxe2

23   Qc1  
Qf6


24   Rf4  
Qe7

25   Kg2  
Re1  


White resigns(g)



                     UHLMANN   -   SMYSLOV



5    b3  
d5  


 6    Bg2  
Bb4+



7    Nfd2(h) 
c5  


 8    dxc 
Bxc5



9    Bb2 
0-0 


10   0-0  
Nc6

11   Nc3  
Rc8  


12   cxd
exd

13   Na4(i)   
Nd4  


14   Nc3(j) 
Qe7

15   Re1  
Nc2!! 


16   Rf1(k)  
Nxa1

17   Qxa1  
Rfd8  


18   Bf3  
Ba3

White resigns

a) 6 Nbd2? Bc3  7 Rb1, Bb7  8 Bb2, Ne4  9 Rg1, Qf6  10 Bc1, Nc6  11 e3, Nb4 was a debacle (Shirazi-Benjamin 1984 US Ch.)

b) 10 e4, Nxc3  11 Rxc3, Bxf1  12 Kxf1, c5 is comfortable for Black.

c) If 13 dxc, Bxc5  14 Bf4, Bb4+ prevents castling.

d) Loses a pawn but if 16 dxc, Bxc5  17 Bg2 d4  18 Bb2, Rce7 Black has strong pressure.

e) 17 Nxd4 is no better -  17...Nxd4  18 Qxd4, Bf6  19 Qd2, d4  20 Bb4, Rxc2  21 Qxc2, Rxe2!  22 Rxe2, d3 or 18 Bxd4, Bb4!  19 Rxc7, Qxc7  20 Qc1, Qd8  21 Bc3, Bxc3  22 Qxc3, Bxe2.

f) If 19 Rxc7, Qxc7  20 Qc1, Qc5!  21 Rd1, Bxe2  22 Qxc5, Bxc5  23 Nxe2, Rxe2  24 Rxd5, g6 & the f pawn is lost.

g)  26...Bf1+ wins quickly.

h) Too artificial.

i)  This should have been played last move. Now it merely loses 2 tempi.  Best was 13 a3.

j) 14 Re1 loses to 14...Nc2!  15 Qxc2, Bxf2+ while 14 Bxd4, Bxd4 15 Rb1, b5  16 Nb2, Qa5 gives Black a dominating position.

k)  White could resign now or allow the brilliant finish 16 Qxc2, Bxf2+!  17 Kxf2, Ng4+  18 Kf3, Qf6+!  19 Kxg4, Rc4+!  20 bxc4, Bc8+  21 Kh5, Qh6#

SOLUTION:  1 Bd7, Ra1  2 Bxb2+, Ka2  3 Be6+, Kb1  4 Kb3, Ra5  5 Bc4 wins: if 1...b6 or 1...b5  2 B(x)b5, Ra1  3 Bxb2+, Ka2  4 Kc2 wins.  1 Be8? fails to 1...Ra1  2 Bxb2+, Ka2  3 Bf7+, Kb1  4 Kb3, Ra6= or 3 Kc2, Rf1=.

